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No. BE HE B &%
RFRRBILTZ/AALILHETS 1 =® 4,456,970
BIMAIIAERDESYELET,

HlESIE 1 = ¥-6,970
INEF ¥4,450,000
HER ¥445,000
& ¥4,895,000
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No. £ R ¥E|HE M B & %
1|{REFTE 1.00] = 215,000
2| AT S 1.00[ s 245,750
3 EE-R—FIXE 1.00] =& 372,200
AEEFIE 1.00 =X 565,800
5| &MIE 1.00] =X 605,800
6|RE-S5—IF 1.00] =X 870,320
IERTE 1.00] = 723,100
8|/ IFE 1.00] =% 309,000
I[FEREE 1.00[ =K 550,000

ait 4,456,970
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No. £ o ¥OE|E G| B & &
i -
E4E 1.00] = 20,000 20,000
RE&# 1.00[ = 15,000 15,000
REMULDE 200 & 60,000 120,000
BIEELY—=T 1.00] =& 60,000 60,000
&t 215,000
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No. 4 {7 i ] #ME|E | BE @ & %8

fRIAITE

XHEE 3300 m 2,750 90,750
BES 2 o4 MiE 1.00] =X 35,000 35,000
REMULE BEa 100 == 60,000 60,000
BI&EM TEEHE 1.00 = 30,000 30,000
BB AE 100 =® 30,000 30,000
= 245,750
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No. £ {7 i ] #ME|E | BE @ & %8

g8 -R—FIZE

B T ihiR 4500 m 3,000 135,000
EEAR—FES 63.00] m 2,400 151,200
B O 4#54 2.00| 4P 8,000 16,000
BIEM TEEHE 1.00] = 30,000 30,000
B A B 1.00] = 40,000 40,000
&t 372,200
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No. £ {7 i ] #ME|E | BE @ & %8
ftEFI=E
B0 REL 1000&A 124000 m 2,200 272,800
RIEE 21 JLES 3300, m 6,000 198,000
BEE—AB. (T35, /\RILEL 1.00] = fik
TH R 1.00] = 15,000 15,000
BIEM 1.00] = 40,000 40,000
B A 100 =t 40,000 40,000
XABETIEEH:&EF
&5t 565,800
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No. £ L) i HEE G| HM ® %
®#¥-35—IF
EmEEH 32000 m a1
9507 12.00] {& fik
N—2Z 6.00 & Fak
1| THRAUE AL 3x6 6.00] # 14,500 87,000
2|ZF— )Lk 1840 m 7,250 133,400
1-2| LRI EE IHEmT & 1.00] =R 90,000 90,000
1-2| FERMT T BES 1.00] =& 140,000 140,000
35— T4YT4>27 R _W600H1500 1.00f = 18,000 18,000
LECHR{THET 100 =® 35,000 35,000
EH 1.00 = 32,400 32,400
BIEM 1.00 =X 30,000 30,000
B A 1.00] = 40,000 40,000
ait 605,800
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No. 2 L) i} A HEH G| B & 8

RE-BRIE

BRARE W1500 1.000 & 105,000 105,000
EH 1.00] =® 5,000 5,000
EERE W1500 H400 *53 4ttt 2000 & Fik
EEH R w2100 x D350 X H2000 1.0 & 185,000 185,000
" W550 X D350 X H2000 200 & 135,000 270,000
HitR 1040 m 5,800 60,320
LRERE IITEE 1.00] =& 115,000 115,000
Ny —F@E5IER 1.00[ 4Pk 65,000 65,000
LR ET # 1.00] =® 35,000 35,000
Bl&EHM 1.000 =& 15,000 15,000
BRI A & 1.00 = 15,000 15,000
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870,320

9/12




No. £ i A HEE G| HM ® %

ERIE

BRI 15000 m 4,500 67,500
ARYESAk b 3200 & 4,800 153,600
RUBEURSAk 2000 & 28,000 56,000
BE{FS/ 3000 & fuk
vtk 4.00| #R 4,000 16,000
BC#R M 1.00 =X 90,000 90,000
2R/ 1.000 = 60,000 60,000
BIFHBE HERAR, BHLE 1.00[ = 200,000 200,000
RIEH XHEEME 1.00] = 40,000 40,000
B A 1.00 = 40,000 40,000
ait 723,100
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No. £ L) HEE G| HM ® %

YAOITE

ALV HTTybhd—b 2.00| #FR 28,000 56,000
NEMBIRA DTV —b 2.00| 4R 28,000 56,000
AV THA—=av A OV vb—h 1.00| #FR 12,000 12,000
AOBRYYXFH AL 1.00| 47 45,000 45,000
LEHETE 1.00] = 90,000 90,000
Bl &E#M 1.00] =® 30,000 30,000
R A 1.00[ = 20,000 20,000
T—2X#ELT

ait 309,000
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No. £ #E|H | B ® %
HRE
BRISEEE 1.00] = 200,000 200,000
RIGEE 1.000 = 100,000 100,000
SHEE 1.00] = 100,000 100,000
JETHAE 1.00 =X 150,000 150,000
S&t 550,000
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